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555°

555x 555
555 = (5x111)* = 25x111* = 25x12321

117

35° 3
()

10a+5 (1 a 9

(10a +5)* =100a” +100a + 25=100a(a +1) + 25
a(a+l

[ 10 ]

(10a+b)(10a+c) ( b+c=10 1 b,c 9)

(10a + b)(10a + ¢) =100a” +10(b + c)a+ bc = 100a* +100a + bc = 100a(a + 1) + bc
a(a+l

34x36=1224 48x42=2016 73x77=5621

[ 10 ]

(10a+c)(10b+c) ( a+b=10 1 ab 9)
(10a + ¢)(10b + ¢) =100ab +10c(a + b) + ¢* =100ab +100c + ¢* =100(ab + ¢) + ¢*

63x 43 6x4+3=27 F=9 2709
75x35=2625 26x86=2236

555 2 25
55x 56
X X ( )



2
5

—=04

ginN

2 26 266 2666 26666 266666---6

5 65 665 6665 66665 6666665

q 10"g+ (10" 'x+10" X+ + X)

— #0 1 p,gx 9
p 10" x+10" X +---10X + p =4 P9

( ) —107q+ 40 =D

( )10 -1

9
g{10x(20" —1) +9p} = p{9x10" g+ x(10" — 1)}

9(10" - 1) pq =10gx(10" — 1) — px(10" —1)
9pqg = (109 - p)x
p#0 10g-p 9 X 3
x=3k (k=12,3

9pg+3pk—-30gk =0
(3p—10k)(3g + k) = —10k?

3p<10k 3g+k 3+k p.q
k=1
p.9
k=2

(3p—20)(3g+2)=—-40

(p.a)=(42,(52)
k=3
(p-10)(g+1)=-10

(p.a)=(51).(84)

1 16 166 1666---6

4 64 664 666---64
1 19 199 1999---9

5 05 995 999...95
4 49 499 49999

8 938 998 999...98




P=100a+10k +6 Q=100b+10k+6 @ ab 90 k 9

PQ = 10000ab +1000(a + b)k + 600(a + b) + 100k + 120k + 36

120K + 36 = 100k + 20K + 36
10k +6
20k +36=10k + 6 (mod 100)

10k +30= 0 (mod 100)
k=7

P =1000a+100k + 76 Q =1000b + 100k + 76

PQ = 1000000ab +100000(a + b)k + 76000(a + b) + 10000k? + 2x 7600k + 76°

2x 7600k + 76 = 15000k + 200k + 5000 + 776

200k + 776 =100k + 76 (mod 1000)
100k +700=0 (mod 1000)
k=3

2x 376000k + 376> = 770000k + 2000k + 141376

2000k +1376=1000k + 376 (mod 10*)
1000k +1000=0 (mod 10*)
k=9

x=0,1
X=reeee 7109376, - ---- 2890625

()
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abc
A 1001
abc

abc
abcabc

1

X X X X

<repeated unit

repunit>

X X X X X X




/x11x13

N =100a+10b+c @ a 90 bc 9

N =98a+ (2a+10b+c)=7x14a+ (2a+10b+C)

N 2a+10b+c
2n

N = 2 (a1 x10%) (& 3 )
k=1

N =g, x1+a x10° +a,x10° + a, x10° +---+a, ,10%°+a, A x10%°

= z (A, x 10°¢° + Ay x10%%)
k1

= z{ (3, (106k_6 -+ a2k—1(106k_3 +1) + (ay, — 3y}
k=1

(10%2 +1)
k=1 10° +1=1001=7x11x13
10 +1=7m (m )
1093 1 1=10%2%.10° + 1= (7m—-1)10° + 1= 7-10°m— 999999 = 7-10°m — 7 x 142857
10°%2 +1
106k—6 _1
10°+1=0 (mod7)  10°=-1(mod?) (10°)*" =1, (20°)" =1 (mod 7)

kZ: (a2k—2 - a2k—1)
=]

10° +1=0 (mod13) 10°+1=0 (mod1l)



3

9 37
777 465
P312 P 216 312216249 312216249C37><8438277
465 249

N =ax10’+ax10+a=111a 1 a9
b,c,d
N-b-c=d N=b+c+d
M

M =10°b+10°c+d

= (10° -1)b+ (10° -1)c+d

=999999h+999¢c+b+c+d

=999999b +999c+ N

=999999b +999c +111a

X X X X




6/29
s 000

6729 1
13458 2
( 1 )
1 (n=2,3,---9)
n
5623 1 3942 1 2697 1 2943 1 2394 1 3187 1 638l 1
17469 3’ 15768 4 13485 5 17658 6 16758 7 25496 8' 57429 9
1
n
n=1
148 35
Sy |
206 70
100
100
[ O 0O 0O o0 g o d 1
x —_—
= + X
()
( )
2148 5823

96——=100, 91—— =100
537 647

[ RN



123456 /89

X X X X X X

987654321

X X X X X

X X X X X X

X X X X X X
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142857

X X X X X X
@
X X X X X X

1 142857 1 12345679

7 999999 81 999999999

% = 0.142857142785. -- = 0.142857 8_];I. =0.012345679012345679- - -

i1
7 81
2
7
1
81
L 0.001122334455667789
891
1 0.000111222333444555666777889
8991
L _ 0.000011112222333344445555666677778889 4

89991

1
1
[i5
142857
4
5 6
8
=0.012345679



3087

P
P =1000(a -+ 3) +100(a+ 2) +10(a+1) + a=1111a + 3210
Q =1000a+100(a+1) +10(a+ 2) + (a+3) =1111a+123

P-Q=3210-123=3087
a
9

P=) (a+k-110“" (1 n9 1 a110-n)
k=1

Q= Zn: (a+n-k)10*
k=1
P>Q

P-Q=) (2Zk-n-110"
k=1

P—Q:Zn:(Zk—n—l)lok‘l

~
iN

@ a 6

8765-5678=3087

k-10°" = > (n—k+110<*
1 k=1

P 3210- 0123

M: \TM:

(k —1)10“* - Z (n— k)10~

k=1

~
iN

=]
o]

a+1

Q

P 43211234




68

1089 =33

P=100a+10b+c (a<c)

Q=100c+10b+a
R
R=Q-P=100(c—a)+(a-c)
a-c<0
R=100(c—a-1)+90+ (10+a-c)

c-a-1910+a-c
S=100(10+a-c)+90+(c—a-1)
R S T
T=R+S=100x9+90x2+9=1089

1089=999+ 90

X X X X X X X X X

( X ) G.H.

1089 = 33 = 65° — 56°
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X 2x
X X X
X
[ T I T |
()
«( ) ( )
( )
( )
9 9 33 3 3
—X—=—4+— —_—=———
7 5 8 5 8
E+E:aLb (a,b,x,y>0)
X Yy Xty

ay+bx a+b

Xy x+y
ay’ +bx*=0

a,b

(ay+bx)(x+ y) = xy(a+b)

~N N
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N
Elw

+1
7+

~N N
+
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2 .

1900

1729=12°+1° =10’ + 9°

(Sinivasa Aiyangar Rarmanujan:1887 1920)

32

1729

635,318,675= 59" +158* =133* +134"



e1/4 .

3141 D 3177 D 6354 D 3087 D 8352 D> 6174 D 6174
! ! ! ! ! !
4311 7731 6543 8730 8532 7641
P1134 P1377 P3456 P 378 P2358 P1467
3177 6354 3087 8352 6174 6174

(Kaperkar Number)

26 D 36 D27 D45 90 D 8l 91 > 72 D45 90 D 8l
! I I I I L. I T Lo L.,
62 63 | 727TTBATTTTO0TTTRIT o1 TS BT 90 R
P2 P36 P27 P45 P9 P18 P19 i P27 P45 P 9 P18

36 27 i 45 9 81 63: 72 i 45 9 81 63

.........................................................................................................................................................

375 O 396 D» 594 O 495
! ! !
753 963 954
P357 P369 P459
396 594 495

N =1000a+100b+10c+d M =1000d +100c+10b+a (a>b>c>d)

N —-M =999a+90b—90c—-999d



X X X X
(2n) n n (2n+1)
6
9999...... 99=10"-1= (10" -1)* =10"(10" - 2) +1
999...... 99° = 999.--98000---01=999---98+ 000---1=999------ 99

n n+l



1418 D» 1418 D 1418 D 1418 D 1418 D 1418 D 1418

3241 3241 3241 3241
6758 6758 6758

5274 5274

4725

3241
6758
5274
4725
2183

1418+ 9999+ 9999 + 9999 = 1418+ 3x (10000-1)

=31418-3
=31415

3241
6758
5274
4725
2183
7816

0)

1418
3241
6758
5274
4725
2183
O 7816
31415

10* -1




1
o
N abcd
N =ax10®+bx10° + cx10+d = a(999+1) + b(99+1) +c(9+1) + d =9(111a+11b+c) + (a+b+c+d)

M bdac

M =bx10® +dx10° + ax10+c=9(111b+11d +a) +a+b+c+d

M,N a+b+c+d

N D au

(Digital Root)

)
(

)
a=b,c=d (modn) =ac=bd ,a+c=b+d,a+k=b+k (modn)



°% .

X
X
...... (10" —1)?
n N=10"-1
N® =107 (10" — 3) +3-10" -1
N®  3n
(999.----- 999)3 =999..-997000---002999.--99
ﬁ’n—J n-1 n-1 n
N

N* = (10" -1)* =10* — 4x10™ + 6x 107" — 4x 10" +1=10"(10" —1) +10"(6x 10" — 4) +1

(999.. .- 999)* = 999.--996000---005999- --996000- --001

an n-1 n-1 n-1 n-1

999 99° 9% 9

99g
9° = 387420489 N =9%
log,, N = log,, 9%72*® 387420489 x 2 x 0.477121 = 369692902.264338
log,, 3
1947  H.S, log9” 250 o
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alnN

76

1001 100

7x11x13
37
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123456789
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1089
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6174

297

31415

999

JH.

RK

6174



